6.5 Rhombi and Square

Rhombus: Quadrilateral with 4 = sides. X<

Theorems Example

Diagonals of a rhombus
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A quadrilateral is a rhombus:

e |f diagonals of a parallelogram are L.

e |f one diagonal of a parallelogram bisects a pair of opposite angles
e |f one pair of consecutive sides of a parallelogram are =.

Square: Quadrilateral that is a rhombus and a rectangle
Meaning... has 4= Sides 1' has 4 v+, 'S
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v" If diagonals are = and L !
o Squar n bus

v If diagonals are = and not L

o Rectangle
v If diagonals are _L and not = o i
o Rhombus . \O 7C
) < o 7\/0\
/ ’
ABCD is a rhombus. x + Qx+"{
1. If mz#ABD = 60, find mLBDC‘ 2. IfAE = 8, find AC.@
, 2 3.1fAB=26and BD = 20, find AE. 4. Find m/ CEB.
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(9 IfAD = 2x + 4 and CD = 4x — 4, find x.
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If% ;i the given vertices represent a parallé ogram@
3 rhombus, o re.|[Explain your reasoning. g
¢ 1AG2),B2®,04,2,02,0 q —8—‘9P—~=D QISTRAG 5
28 o Grtld
kK\"W"\WS K“ (w 5D Z et
2. D(-2, 1), B(— 1 3), Fi3, 1), G2, =1) (2-2) "+ CorD
e,
£ DF =0 [‘; DF =\5
v yeaﬁ‘%@’ £6 25
¢ 3. A(—-2, 1), B(GE 2), C(2, —1), D(0, —4)
AC O c -
B )’ wy?\)ty r; A 9 v\‘O
=V
A\ 8p v Z 80
) h ”\10125
R 0 -




éZum ril atordS

Wﬂ

\
Nl e—s o mbus
]t Q—

(sor| £,3

s _

| L

21

GLASBERGEN

"I TURNED IN MY HOMEWORK TWO DPAYS LATE,
BUT NORMALLY IT'S FOUR DAYS LATE,
SO TECHNICALLY IT'S EARLY Y

{ HW pg. 431 #7-12, 18-30

*Not odds, make sure you do all!




